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13 cm’ 17 e’ 34 cm’ 6.1 cm’ 8.2 cn’
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#EL 3.5cm; B 5% 2.5cm
A = 3. 5emx(3. 5c1n><—)><1/2><2 5cm = 13cm’
SR
% 3.8cm; %5 2.8 cm;® 5 1.6cm
Bt = 3.8cmx2. 8cmx1. 6cm = 17cm’
NI
#EE 2.3 cm; B 5 2.5cm
i = 2.3 mx(2 3cm><—) x1/2%6x2. 5ecm = 3dcm’
IR i

AL 2.2cm; % 5 1.6cm
= (2.2cm/2)°x3. 14%1. 6cm = 6. 1cm’

=< = v

MEREES 2.5 cm pAEEZAES 10O em;® 5 2.0cm
A = [(2.5em/2)"%3. 14-(1. 0cm/2)*%3. 14]%2. Ocm = 8. 2cm’



2.

SHE RH R E

m (g) 10g 20g 30g 40g 50g 60 T0g
T (sec) |0.434 0.607 0.741 0.849 0.949 1.033 1.112
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S (5 ¥ =)= 2160 (g/sec’)
PR 2 R aEAR: (B EEARE IR A B
m (g) 10g 20g 30g 40g 50g 60 T0g
B 1 HP B 20 20 20 20 20 20 20
24 #(sec) 8.67| 12.13| 14.82| 16.98| 18.98| 20.66| 22.23
T (sec) 0.434| 0.607| 0.741| 0.849| 0.949| 1.033| 1.112
T? 0.188| 0.368| 0.549| 0.721|0.9011| 1.067| 1.237
# % 5 =0.95/54=0. 0183 (sec’/g)

S 2 A4 R k=4n'/s=4- (3.14)°/0.0183=2160 (g/sec’)

>k= 2160 (g/sec’)= 2.16 [(m'kg/sec’)/m]=2.16 nt/m
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(=840 | (E28) | (2> 44 | (M) | (AR

b T 2 e 20 20 20 20 20
3.4 #ix(sec) 11.29 18.26 14.13 19.89 21.76
T (sec) 0.565 0.913 0.707 0.995 1.088
T?(sec?) 0.319 0.834 0.500 0.989 1.184
FE(2) 16. 4 44.5 26. 3 53.0 63. 7
% A ( g/cn’) 1.3 2.6 0.8 8.7 7.8

1+ =

%A= (17.5g-1.1g)/13 cm’ =

£ a8 =0. 8340%2160/[4x (3.14) *] ]=45. bg

% &= (45.6g-1.1g )/1T7

cem’ = 2.7 g/ cm’

o= &£ =0.500%2160/[4%(3.14) *1=217. 4g
2 R= (27.4g-1.1g)/34 cm’ = 0.80 g/cm’

mieag § £ =0.989%2160/[4%(3.14) *]=54. 1g

%A= (54.1g-1.1g)/6. lcm’ = 8.9 g/cm’

T3 ke £=1.184%2160/[4x%(3.14) “]=64. 8¢g
%A= (64.8z-1.1g) /8.2cm’ = 7.8 g/cm’

& ’fi?fr:g_:'l‘z'k/élnz =0. 319%2160/[4x (3.14) *]=17. bg
1.3 g/ cm’




